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AXRE
1. BR%E: T E2APHY & T @AY © T 28RY.
2. TIR4E: T ZrIZRY < T ZiFHHIFIERAY.
3. SIERRGIRYI T S ERTEETX.

1.1 U 1V #2BRENEEDTE), 7R S e L(V,W),T € L(U,V). IEA
dimnull ST < dimnull S + dimnull 7.

2.8V 26REN, B € 2 L(V) NFEBEESNIE Se LV) B T € £ 198
ST, TS € £. iERH: € ={0} 8% & = L(V).

3.8V 2BMIRERN, T € L(V). IE: T Rir2RUESMEZENINE 5 € L(V)
98 ST =TS5.

4. 12 T € L(P(R)) =889, BXBNMEEZII p € P(R) 98 degTp < degp. UEER:
1. T ZimH.
2. WEBNEZH p € P(R) 198 degTp = degp.
5. 1% 1,00, .., 0, M wy,ws, ..., w, &V BWDNE, T € L(V). IERR:
L Tr (T(vs, ..., 0n) = Tr (T(wy, ..., w,)).
2. det (T(vy,...,v,)) = det (T(wy, ..., wy,)).
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